')
QB
|
1» * 9
402 m |
;/ ITo)
FRAME “WIDTH |0
1 361" % E E
A» _ [ - . __2811 —t E (Io 8
8 DOOR OPNG. WIDTH Eu g%
SE Gz
. @ 11" 3 g 92 8ls
1 3" 5 w ~
r2 ! _ _!OC _ [ MAx gz x|
] L x ok =&
............. 3527 T . 0582
"N\ SASH WIDTH .. 3 ORud
- \ ......................... O O = m o
...... NI OEE<‘?'
................. "~ & F Q qp
a N T Y (@] by 3
NV TN E229«w
......... N ) - < H oL
N ey S Tiasg
|:|_: .................. \:_”/ M _II 6 O < ~
o ............ \ e Z m — d
% e 1| I A = Liuos - _J
I P e :)
g % |7®—!7_ ....... \ % f?: -
< T | T = . 3
LI— % ............................. . I §| o &
. b || e A /. 100 2 (= &
oo B i | - J P 2= %
[v0] \i|¢ -------- .. / L. lilw ‘iﬂ. & . |
L A A . - O ~
8 —I_' ‘;IN/ ..... 5 _L M é 8 Z R II\
= S| 7000 B (1R > 2 E E -
=S\ Y= BIDE .
- - / .......... 1 w — M g
DOORS ARE RATED FOR IMPACT. T T 8 2 =3
INSTALLATION OF THIS PRODUCT IN THE HVHZ AREA DOES NOT REQUIRE = (o2 . ] Y =
THE USE OF APPROVED SHUTTERS OR EXTERNAL PROTECTION DEVICES [ MAX VARE EER KR M0 EDx™ 18
N A | 72 N R 11 << Z < S |
COMPLYING WITH HVHZ REQUIREMENTS. ' i I I 1 S|Z =38
Lp]
INSTALLATION OF THIS SYSTEM OUTSIDE THE HVHZ AREA SHALL MEET @ L_1e | 5 g|= 5%3},
- = ul 00
THE APPLICABLE REQUIREMENTS FOR WIND BORNE DEBRIS PROTECTION. MAX. MAX. gl 552??
<C 1 [ —
2 ’” g L © E 8l é
TELSTAR/TIOGA /SPARTAN" OUTSWING STEEL DOORS &) — a2
———— >
APPROVAL APPLIES TO SINGLE (X) LEAF DOORS WITHOUT SIDELITES. "TELSTAR OUTSWING SINGLE STEEL DOORS ( X ) ~ \
DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER INFILTRATION
RESISTANCE IS REQUIRED. Pd = +50.0 PSF ((EXTERlOF)Q)
—50.0 PSF (INTERIOR
THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE c
REQUIREMENTS OF THE 2006 INTERNATIONAL RESIDENTIAL CODE (IRC) AND _8
2006 INTERNATIONAL BUILDING CODE (IBC) SECTIONS 1405.12, 1609, %
1714.5, 2403 AND 2404 WITH TEXAS REVISIONS. 8
TESTING PERFORMED IN ACCORDANCE WITH FLORIDA PROTOCOLS %
ASTM E 1886—13a, ASTM E 1996—14 AND TAS-—202. >
o]
WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER LOADS P
TO THE STRUCTURE. g 18
ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, ANCHORS g -8
EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. o 8
—/\& J
ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETAILS ARE NOT C— — — ——— )
PART OF THIS APPROVAL. L
©
A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY. ;l_) "%
ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON-—-COMPRESSIBLE. E .Q B
- by
MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT 3 %S j
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE S 3 S
REQUIREMENTS OF THE INTL. RESIDENTIAL CODE (IRC) AND INTL. BLDG. CODE e
(IBC) WITH TEXAS REVISIONS. (drawing  no. |
S5 O 15—35LTX
Sealed 11/8/16  "\onAL = Sheet 1 of O

EB C.A.N. # 3538



AutoCAD SHX Text
"TELSTAR OUTSWING SINGLE STEEL DOORS  ( X )  ( X ) Pd = +50.0 PSF (EXTERIOR) -50.0 PSF (INTERIOR)

AutoCAD SHX Text
A

AutoCAD SHX Text
 

AutoCAD SHX Text
3

AutoCAD SHX Text
C

AutoCAD SHX Text
3

AutoCAD SHX Text
B

AutoCAD SHX Text
3

AutoCAD SHX Text
D

AutoCAD SHX Text
3

AutoCAD SHX Text
DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER INFILTRATION  RESISTANCE IS REQUIRED.

AutoCAD SHX Text
THE APPLICABLE REQUIREMENTS FOR WIND BORNE DEBRIS PROTECTION.

AutoCAD SHX Text
INSTALLATION OF THIS SYSTEM OUTSIDE THE HVHZ AREA SHALL MEET

AutoCAD SHX Text
INSTALLATION OF THIS PRODUCT IN THE HVHZ AREA DOES NOT REQUIRE

AutoCAD SHX Text
THE USE OF APPROVED SHUTTERS OR EXTERNAL PROTECTION DEVICES

AutoCAD SHX Text
COMPLYING WITH HVHZ REQUIREMENTS.

AutoCAD SHX Text
DOORS ARE RATED FOR IMPACT.

AutoCAD SHX Text
%%U"TELSTAR/TIOGA/SPARTAN" OUTSWING STEEL DOORS 

AutoCAD SHX Text
APPROVAL APPLIES TO SINGLE (X) LEAF DOORS WITHOUT SIDELITES. 

AutoCAD SHX Text
THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE REQUIREMENTS OF THE 2006 INTERNATIONAL RESIDENTIAL CODE (IRC) AND 2006 INTERNATIONAL BUILDING CODE (IBC) SECTIONS 1405.12, 1609, 1714.5, 2403 AND 2404 WITH TEXAS REVISIONS. TESTING PERFORMED IN ACCORDANCE WITH FLORIDA PROTOCOLS ASTM E 1886-13a, ASTM E 1996-14 AND TAS-202. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE STRUCTURE. ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, ANCHORS EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETAILS ARE NOT PART OF THIS APPROVAL. A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY. ALL SHIMS TO BE HIGH IMPACT, NON-METALLIC AND NON-COMPRESSIBLE. MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT  COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE  REQUIREMENTS OF THE INTL. RESIDENTIAL CODE (IRC) AND INTL. BLDG. CODE  OF THE INTL. RESIDENTIAL CODE (IRC) AND INTL. BLDG. CODE (IBC) WITH TEXAS REVISIONS.                               

AutoCAD SHX Text
TDI APPROVAL/15-35LTX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-35LTX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
9

AutoCAD SHX Text
"TELSTAR/TIOGA/SPARTAN" OS STEEL DOORS SYSTEM-L.M.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
1

AutoCAD SHX Text
1/2"=1'-0"


(X175 =51 /VAOdddV 101

)

U 8.69-¢9¢ (SO€) "XV

4
e

€.TEE VAIHO14 ‘IANVIN
0ge 31INS ‘IAIMA 13SNNS 09€6
AINIINJOTIAIA 1ONA0Ud @ SHIIANIONI

NOILVHOdHO0O DO0HVH-1V

* 066¢—G29—L1L—1
00TS8-¥9¢ (S0€) 131

“ONI

‘Z1ILn
ONIMNLIOVANNYWN 1131

£6¢¢—0/¢—888—1 :XVd

© LYOP—£ey—008—1 :33¥4 TI0L

¢vG/ 1 VINVAIASNNIL

© 3AEA QdVHOIY 81

ﬁ._.zfz&@a S¥00Q TH3LS SO =z<E<%\<uo_§<ZuL m

uol1duossp [Aq

310p [oU

:Suolsinal)

sheet 2 of 9

15—35LTX

1H9IAH Hsvs 8c6

et _ B2 71

9¢C T 9¢ T

Jog

"XV _

«¥C !

47%"
“SASHWIDTH™ =~ 7"

52%"
FRAME WIDTH
48]’

DOOR OPNG. WIDTH

o3,

FOR ANCHORS OPTIONS

SEE SHEET 9 OF 9
AT EACH JAMB

1HOIFH "ONdO d00d

W7

:@@
1HOIFH 3JNVHA

..wm

1H91IFH Hsvs 8c6

..@N I

«OF

6”
MAX.

l”
FRAME WIDTH

5
a9
DOOR OPNG. WIDTH

&

(SASH WIDTH ™ = = -

11

N
N
e
d
|

1 8"
MAX.

Nk

7»_|
28

_
- e

1HOIFH "ONdO d00d

«96

IHOIFH 3IAVYS

26

X))

Pd = +50.0 PSF (EXTERIOR)
—50.0 PSF (INTERIOR)

"TIOGA/SPARTAN” OUTSWING SINGLE STEEL DOORS

X))
+75.0 PSF (EXTERIOR)
—75.0 PSF (INTERIOR)

Pd

"TIOGA/SPARTAN” OUTSWING SINGLE STEEL DOORS

Sealed 11/8/16

EB C.A.N. # 3538


AutoCAD SHX Text
96"

AutoCAD SHX Text
96"

AutoCAD SHX Text
98"

AutoCAD SHX Text
98"

AutoCAD SHX Text
 

AutoCAD SHX Text
E

AutoCAD SHX Text
8

AutoCAD SHX Text
F

AutoCAD SHX Text
8

AutoCAD SHX Text
96"

AutoCAD SHX Text
96"

AutoCAD SHX Text
98 "18"

AutoCAD SHX Text
98 "18"

AutoCAD SHX Text
E

AutoCAD SHX Text
8

AutoCAD SHX Text
H

AutoCAD SHX Text
8

AutoCAD SHX Text
F

AutoCAD SHX Text
8

AutoCAD SHX Text
G

AutoCAD SHX Text
8

AutoCAD SHX Text
"TIOGA/SPARTAN" OUTSWING SINGLE STEEL DOORS  ( X )  ( X ) Pd = +50.0 PSF (EXTERIOR) -50.0 PSF (INTERIOR)

AutoCAD SHX Text
"TIOGA/SPARTAN" OUTSWING SINGLE STEEL DOORS  ( X )  ( X ) Pd = +75.0 PSF (EXTERIOR) -75.0 PSF (INTERIOR)

AutoCAD SHX Text
SEE SHEET 9 OF 9 FOR ANCHORS OPTIONS AT EACH JAMB

AutoCAD SHX Text
TDI APPROVAL/15-35LTX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-35LTX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
9

AutoCAD SHX Text
"TELSTAR/TIOGA/SPARTAN" OS STEEL DOORS SYSTEM-L.M.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
2

AutoCAD SHX Text
1/2"=1'-0"


R
WoOD MASONRY s
SUBSTRATE 0
/\/_/ . . Z ,‘E }
< O~ RS
~ N — ] o B ROUGH OPENING =z it S
¥ 4 B u 9l
e = ! “ 5, g
@) | e ¥ oz &l
24" v 4 *
o : A Lou %
T 4 s OLEam
, 1 O2u45
[s 4 g WOOD adn
1n ‘A 4 " < o’ o= M o
8 —— < 1”7 E.D. = SUBSTRATE xE . o
Qidgs
O3kLig 3
| x229x
SECTION A—A @ " LH2E 0
= a W2os s
— = J4380%
Z0O= o
SEAL LTS ¥
ITEM 07 -
i . o
il 8
= / [ = P &
@ u| N9 & g
® 05
g2 0
Sl
& W 3 £ ) =
g - % FRAME OVERALL WIDTH 'G — — Q
& s g o glo -2¥%
e} ] s [T ww b
T i 5 SECTION C-C SECTION D-D =3 [ 2:35
§ 137 SASH | g § '2‘_: :)%<<I3'?
& PANEL DEPTH x & = = 8,‘3
3 TYPICAL ANCHORS AT HEAD/JAMB/SILL: P <§E @;va
S mESTE:
8 DIA. SMS < j%%&‘l_
INTO 2BY WOOD BUCKS OR WOOD STRUCTURES 23 [ o & 3%
1—=1/2" MIN. PENETRATION INTO WOOD & —aRE
————
3/16” DIA. ITW_TAPCON (Fu=125 KSI, Fy=100 KSI) Y )
\N INTO 2BY WOOD BUCKS OR WOOD STRUCTURES
DIRECTLY INTO fc’=3000 PSI CONCRETE, 1” MIN. EDGE DIST.
1” MIN. EMBED INTO CONCRETE (HEAD/JAMBS/SILL)
(3) #10x13” ” 3
3/16” DIA. ELCO ULTRACON (Fu=177 KSl, Fy=155 KSl) =
INTO 2BY WOOD BUCKS OR WOOD STRUCTURES 5
— » (7]
SECTION B-8 / 1—=1/2" MIN. PENETRATION INTO WOOD 3
4] DIRECTLY INTO fc'=3000 PSI CONCRETE, 1” MIN. EDGE DIST. B
g DIRECTLY INTO fc’=2000 PSI MASONRY BLOCK, 1” MIN. EDGE DIST. ..
= 1-3/8” MIN. EMBED INTO CONCRETE (HEAD/JAMBS/SILL) gg
4 “ 4 1—1/4" MIN. EMBED INTO GROUT FILLED BLOCK (JAMBS) o
< 4 <da a < “\\\‘\\\\ ;;;
'-'P:‘ E. .(?--F. . :'re:{'\\\ ©
CONCRETE ELA ey || T
-~ " ®e
> * *"" R|
............................... (o | I 3
AVAD AHMAD ? £ g
106516 r fle——
TELSTAR SERIES SINGLE STEEL DOOR SYST (XX 7 || e e
}:\'o. _.' -
— :.“@%ﬁ.{ggwggé\:\@@_.: 15—35LTX
/ -
Sealed 11/8/16 “\WalVAL shest 3 of 9

EB C.AN. # 3538



AutoCAD SHX Text
SECTION B-B

AutoCAD SHX Text
SEAL ITEM 07

AutoCAD SHX Text
SECTION A-A

AutoCAD SHX Text
(3) #10x1 " 14" HWH SDS

AutoCAD SHX Text
MASONRY

AutoCAD SHX Text
SECTION C-C

AutoCAD SHX Text
SECTION D-D

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
(8)

AutoCAD SHX Text
(8)

AutoCAD SHX Text
WOOD SUBSTRATE

AutoCAD SHX Text
011

AutoCAD SHX Text
(4)

AutoCAD SHX Text
02

AutoCAD SHX Text
11

AutoCAD SHX Text
01

AutoCAD SHX Text
02

AutoCAD SHX Text
02

AutoCAD SHX Text
05

AutoCAD SHX Text
CONCRETE

AutoCAD SHX Text
TYPICAL ANCHORS AT HEAD/JAMB/SILL: #8 DIA. SMS  INTO 2BY WOOD BUCKS OR WOOD STRUCTURES 1-1/2" MIN. PENETRATION INTO WOOD 3/16" DIA. ITW TAPCON (Fu=125 KSI, Fy=100 KSI)  (Fu=125 KSI, Fy=100 KSI) (Fu=125 KSI, Fy=100 KSI) INTO 2BY WOOD BUCKS OR WOOD STRUCTURES DIRECTLY INTO fc'=3000 PSI CONCRETE, 1" MIN. EDGE DIST. 1" MIN. EMBED INTO CONCRETE (HEAD/JAMBS/SILL) 3/16" DIA. ELCO ULTRACON (Fu=177 KSI, Fy=155 KSI)  (Fu=177 KSI, Fy=155 KSI) (Fu=177 KSI, Fy=155 KSI) INTO 2BY WOOD BUCKS OR WOOD STRUCTURES 1-1/2" MIN. PENETRATION INTO WOOD DIRECTLY INTO fc'=3000 PSI CONCRETE, 1" MIN. EDGE DIST. DIRECTLY INTO fc'=2000 PSI MASONRY BLOCK, 1" MIN. EDGE DIST. 1-3/8" MIN. EMBED INTO CONCRETE (HEAD/JAMBS/SILL) HEAD/JAMBS/SILL) ) 1-1/4" MIN. EMBED INTO GROUT FILLED BLOCK (JAMBS)GROUT FILLED BLOCK (JAMBS) BLOCK (JAMBS)

AutoCAD SHX Text
WOOD SUBSTRATE

AutoCAD SHX Text
03

AutoCAD SHX Text
TDI APPROVAL/15-35LTX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-35LTX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
9

AutoCAD SHX Text
"TELSTAR/TIOGA/SPARTAN" OS STEEL DOORS SYSTEM-L.M.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
3

AutoCAD SHX Text
TELSTAR SERIES SINGLE STEEL DOOR SYSTEM

AutoCAD SHX Text
 6"=1'-0"


DR 3068 PRO DB RHR W

DETAIL A

DETAIL B

ITEMNo. | PART NUMBER | DESCRIPTION MATERIAL QTY.
01 MMD20102 | DHM 3068 20GA 161 DB - 1
02 MMD30302 | TELSTAR DOOR FRAME HEADER/JAMBS 2.76” x 4.75” x 0.054” THK. 16GA GALVANNEAL STEEL 1
03 MMD10202 | THRESHOLD 0.53” x 4.80” x 0.152” THK. 36” TP 6063—T5 ALUMINUM 1
04 MMD40103 | FLASHING STRIP 36" TP - 1
05 HG100034 | HINGE 4—1/2" x 4—1/2" GALVANNEAL STEEL 3
06 MMD10203 | DOOR SWEEP 0.61” x 1.35” x 0.083” THK. TP 35.75” 6063—T6 ALUMINUM 1
07 MD100120 | WEATHER STRIP LP1153 (16°) GALVANNEAL STEEL 2
08 - 8300 SERIES HEAVY DUTY COMMERCIAL GRADE 1 RIM PANIC W/ KEYED ESCUTCHEON TRIM STAINLESS STEEL 1
09 - KEYED LOCK - 1
011 MSD10006 | 2 PART ADHESIVE, REZ—CURE EP882 BY INNOVATIVE RASIN SYSTEM, INC. EPOXY RASIN 2

MSD10033
012 - STRIKE PLATE - !
013 MSD41065 | BOTTOM DOOR SKIN 0.40” x 1.72” x .034” THK. GALVANNEAL STEEL -
014 MSD41065 | TOP DOOR SKIN 0.18” x 0.24” x .035” THK. GALVANNEAL STEEL -
015 MMD10205 TOP CAP 0.70” x 1.54” x .038” THK. GALVANNEAL STEEL -
016 MSD10223 | DOOR CHANNEL 0.80” x 1.67" x .053" THK. GALVANNEAL STEEL -
017 MMD10043 | DOOR CLOSER REINFORCEMENT 7.00” x 19.50” x 0.070” THK. (15GA) STEEL SHEET GALVANNEAL STEEL 2
018 MSD10005 | FOAM CORE 44.00" x 91.00” x 1.688”" THK. — 0.733 LB/FT> DENSITY POLYSTYRENE FOAM 1
019 MSD10027 | HINGE REINFORCEMENT 1.25” x 10.00” x 0.180" THK. COLD ROLLED STEEL -
020 MSD10091 | CYLINDRICAL LOCK REINFORCEMENT 1.65” x 6.69” x 3.80” x 0.054” THK. COLD ROLLED STEEL 2
021 - DUST COVER 0.61” x 1.35"x 0.083” THK. 6063—T6 ALUMINUM -
022 - #8 x 3/4” PHILLIPS WAFER PAN HEAD SELF DRILLING SCREWS STEEL 8
023 - 3/16”¢ ITW BUILDEX TAPCON OR ELCO ULTRACON ANCHORS STEEL 23

TELSTAR SERIES SINGLE STEEL DOOR SYSTEM

‘ 'S'f. e '6 --
1/8/16  NAL =

f
C

TDI APPROVAL/15-35LTX )

a

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

INC.

LITITZ,
1-717-625-2990 .

1-800—433—4047 .

1-888—370—3253

TELL MANUFACTURING,
18 RICHARD DRIVE

PENNSYLVANIA 17543

TOLL FREE:

FAX:

[’TELSTAR/T I0GA/SPARTAN” OS STEEL DOORS SYSTEM—L.M.I.]

|

)

by [ description

(revisions:
(no[ date

{

9-23-16
scale: AS SHOWN

date:
chk. by:

c— >
. .
drawing no.

15—-35LTX

EB C.A.N. # 3538



AutoCAD SHX Text
01

AutoCAD SHX Text
02

AutoCAD SHX Text
04

AutoCAD SHX Text
08

AutoCAD SHX Text
09

AutoCAD SHX Text
05

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
DETAIL A

AutoCAD SHX Text
023

AutoCAD SHX Text
DETAIL B

AutoCAD SHX Text
03

AutoCAD SHX Text
06

AutoCAD SHX Text
DR 3068 PRO DB RHR W/ 10" X 10" OW

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
023

AutoCAD SHX Text
ITEM No. No.No.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
01

AutoCAD SHX Text
DHM 3068 20GA 161 DB

AutoCAD SHX Text
1

AutoCAD SHX Text
02

AutoCAD SHX Text
TELSTAR DOOR FRAME HEADER/JAMBS 2.76" x 4.75" x 0.054" THK. 16GA

AutoCAD SHX Text
1

AutoCAD SHX Text
03

AutoCAD SHX Text
THRESHOLD 0.53" x 4.80" x 0.152" THK. 36" TP  

AutoCAD SHX Text
1

AutoCAD SHX Text
04

AutoCAD SHX Text
FLASHING STRIP 36" TP

AutoCAD SHX Text
1

AutoCAD SHX Text
05

AutoCAD SHX Text
HINGE 4-1/2" x 4-1/2"

AutoCAD SHX Text
3

AutoCAD SHX Text
06

AutoCAD SHX Text
DOOR SWEEP 0.61" x 1.35" x 0.083" THK. TP 35.75"

AutoCAD SHX Text
1

AutoCAD SHX Text
07

AutoCAD SHX Text
WEATHER STRIP LP1153 (16')

AutoCAD SHX Text
2

AutoCAD SHX Text
08

AutoCAD SHX Text
1

AutoCAD SHX Text
09

AutoCAD SHX Text
KEYED LOCK

AutoCAD SHX Text
1

AutoCAD SHX Text
011

AutoCAD SHX Text
3/16"  ITW BUILDEX TAPCON OR ELCO ULTRACON ANCHORS

AutoCAD SHX Text
23

AutoCAD SHX Text
012

AutoCAD SHX Text
013

AutoCAD SHX Text
BOTTOM DOOR SKIN 0.40" x 1.72" x .034" THK.

AutoCAD SHX Text
TOP DOOR SKIN 0.18" x 0.24" x .035" THK.

AutoCAD SHX Text
TOP CAP 0.70" x 1.54" x .038" THK.

AutoCAD SHX Text
DOOR CHANNEL 0.80" x 1.67" x .053" THK.

AutoCAD SHX Text
DOOR CLOSER REINFORCEMENT 7.00" x 19.50" x 0.070" THK. (15GA) STEEL SHEET

AutoCAD SHX Text
HINGE REINFORCEMENT 1.25" x 10.00" x 0.180" THK.

AutoCAD SHX Text
CYLINDRICAL LOCK REINFORCEMENT 1.65" x 6.69" x 3.80" x 0.054" THK.

AutoCAD SHX Text
DUST COVER 0.61" x 1.35"x 0.083" THK.

AutoCAD SHX Text
-

AutoCAD SHX Text
014

AutoCAD SHX Text
015

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
016

AutoCAD SHX Text
-

AutoCAD SHX Text
017

AutoCAD SHX Text
018

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
019

AutoCAD SHX Text
-

AutoCAD SHX Text
020

AutoCAD SHX Text
021

AutoCAD SHX Text
2

AutoCAD SHX Text
-

AutoCAD SHX Text
MATERIAL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
PART NUMBER

AutoCAD SHX Text
MMD30302

AutoCAD SHX Text
MMD20102

AutoCAD SHX Text
MMD10202

AutoCAD SHX Text
MMD40103

AutoCAD SHX Text
HG100034

AutoCAD SHX Text
MMD10203

AutoCAD SHX Text
MD100120

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
MSD41065

AutoCAD SHX Text
MSD41065

AutoCAD SHX Text
MMD10205

AutoCAD SHX Text
MSD10223

AutoCAD SHX Text
MMD10043

AutoCAD SHX Text
MSD10005

AutoCAD SHX Text
MSD10027

AutoCAD SHX Text
MSD10091

AutoCAD SHX Text
-

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
6063-T6 ALUMINUM

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
STAINLESS STEEL

AutoCAD SHX Text
POLYSTYRENE FOAM FOAM

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
6063-T6 ALUMINUM

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
6063-T5 ALUMINUM

AutoCAD SHX Text
-

AutoCAD SHX Text
FOAM CORE 44.00" x 91.00" x 1.688" THK. - 0.733 LB/FT³ DENSITY DENSITY

AutoCAD SHX Text
2 PART ADHESIVE, REZ-CURE EP882 BY INNOVATIVE RASIN SYSTEM, INC.

AutoCAD SHX Text
022

AutoCAD SHX Text
2

AutoCAD SHX Text
MSD10006 MSD10033

AutoCAD SHX Text
EPOXY RASIN

AutoCAD SHX Text
023

AutoCAD SHX Text
STRIKE PLATE

AutoCAD SHX Text
1

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
8300 SERIES HEAVY DUTY COMMERCIAL GRADE 1 RIM PANIC W/ KEYED ESCUTCHEON TRIM

AutoCAD SHX Text
#8 x 3/4"  PHILLIPS WAFER PAN HEAD SELF DRILLING SCREWSPHILLIPS WAFER PAN HEAD SELF DRILLING SCREWS

AutoCAD SHX Text
8

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
023

AutoCAD SHX Text
TDI APPROVAL/15-35LTX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-35LTX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
9

AutoCAD SHX Text
"TELSTAR/TIOGA/SPARTAN" OS STEEL DOORS SYSTEM-L.M.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
4

AutoCAD SHX Text
TELSTAR SERIES SINGLE STEEL DOOR SYSTEM

AutoCAD SHX Text
 AS SHOWN


)
25" U ﬁ
922" /\ * -
” ] D
75" \/ 135 9085 m I
f .s:zn" : Z ,Q }
U I Or 35
s [ Z2 e
».961'«05, e, < E I &
:{ > ——s.4062" o G <
R m 9 Q Qs
. N —7500" O w ﬁ 9’ E
74(417 m a w é
| — . x ok w
. . . E— .l oE
P R Qon?
[ =) N~
NMDS0101 PIERCED BLANK ] OR3ud
3 — T 34" 7 o) > M
80.654" 3 PLACES O E m o
“ l ’H Ofcg 3
o ‘1‘5'; 1625"—=— [] 03 - g @
“ .3 PL‘;CES O w g m g
. - . - - 14 Tz S 8
[\{ }_/] t His;l’::{s . < Lu(?)u-‘ Ig
875 r—1.250° u Z — m
|4l T . =0z 8
. 2282
e 1 II_"" [D ql LiLos ¥
1 ——/
a7 D
2.750° f?: N
l l q,f | 3. S
_'_I L'_ 2000 O 4\ EI g %
W 4111' D 1o [] m g - §
—= 625" L=—1.000" 1.125"—= F—— 2.000" - I
" 8115 "l WTT‘»Z - % O ":
FORMED CHANNEL SECTION \ - D e MMDS0101 FORMED CHANNEL =4 = ~N i)
| Y l 750" il = -
izm’—im m — -
MMD40101 FORMED CHANNEL wJ LLW* CHANNEL SECTION = E RN
6.831"—1 17 o . N g
o1 [} < |
TELSTAR HEADER e TELSTAR HINGE JAMB 2 |E L3y
D) I
Zl=°< 84
Ll<<caZTh
- <C I~ '?
A *:(;%Srg. &LZSOT g E % 3 G 8
j L r n;}%m o1e"—| |- E 5 >U-) E B
w‘no'l |<_: _1lxZ -
1A . OOO 4 |t 0 5 o %
9205 2687 o~ o F = I9 [y
i Q. L)
R c————— O
4750 —~7 3
~4 | H J L
(e} o
2085 jul @ @
4
~Ros0 412" OOO b
/\ 625~ UOO'L\ 125" ' u il @ @ c
750" Ly o o 9
D FORMED CHANNEL SECTION u b ® O ® é
o o 3
2.790"- 130" n ] H L - q)
h [:] 80.654" il \\ 1 ©
S 3]
1,130 o _O .o
11‘50” OOO g _8
- gy D e | TELSTAR THRESHOLD 218
i N MMD10202 (6063-T5 ALUM. ALLOY) Hi
: Ch\E )
75" 775" [] | } ﬂ-““““‘\ ;)
T r SoRE OF Teyh, z
| " HINGE REINFORCEMENT PN N N -
T = s DOOR AND FRAME Z o RO Y2
105" 1625' 7 GA ; ** -'-. 5, t"’ ola Q y -

: . B
lﬁ 5228 | I A SN S W TR O Ty P TP T TT P P PE T TPPP IR ; " kS -°
! C ] | AVAD AHMAD ’ 58 i

7[174“ b 2507 u X JN g = o [ T ] Fadad
aurm TN e ) D: 108516 o J|e——=
=l TELSTAR SERIES SINGLE STEEL DOOR SYST ho; GF | oo
——5831: #(\.". o'.- -
T MDBO102 PIERCED FLAT BLANK TELSTAR LOCK JAMB ha '.I‘f@giggh@-%\:\@\f.‘f 1 5_35 LTX
Sealed 11/8/16  “W\oNALS sheet 5 of 9

EB C.A.N. # 3538



AutoCAD SHX Text
FORMED CHANNEL SECTION

AutoCAD SHX Text
MMD40101 FORMED CHANNEL

AutoCAD SHX Text
MMD60101 PIERCED BLANK

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
FORMED CHANNEL SECTION

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
MMD60102 PIERCED FLAT BLANK

AutoCAD SHX Text
A

AutoCAD SHX Text
CHANNEL SECTION

AutoCAD SHX Text
MMD60100 FLAT BLANK

AutoCAD SHX Text
MMD50101 FORMED CHANNEL

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
TELSTAR HEADER

AutoCAD SHX Text
TELSTAR HINGE JAMB

AutoCAD SHX Text
TELSTAR LOCK JAMB

AutoCAD SHX Text
TELSTAR THRESHOLD

AutoCAD SHX Text
MMD10202 (6063-T5 ALUM. ALLOY)

AutoCAD SHX Text
HINGE REINFORCEMENT DOOR AND FRAME

AutoCAD SHX Text
7 GA

AutoCAD SHX Text
TDI APPROVAL/15-35LTX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-35LTX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
9

AutoCAD SHX Text
"TELSTAR/TIOGA/SPARTAN" OS STEEL DOORS SYSTEM-L.M.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
5

AutoCAD SHX Text
TELSTAR SERIES SINGLE STEEL DOOR SYSTEM

AutoCAD SHX Text
 AS SHOWN


(X115£=51/IVAO¥ddV_1aL (- . £5ZE—0/c—888—1 XV - X o
8269-29¢ (S0€) "Xv4d 00T8-v9¢ (S0€) 3L 066c=Ge9=LLLmt LPOP~£€7=008-~1 4344 TIOL c _U Y
U €LTEE vAIHO1d ‘INVIIN ¢ M,._\mﬁ_‘ VINVA IASNNId Q) °©
.“ 0Tz 31INS ‘AAI¥A 1ISNNS 09€6 . ‘ ZULN - 3N¥0 duvHORY 8l gm e
AINIWJOTIAIA LONAOYd @ SHIANIONI ONI_ONI4NLOVINNYN 1141 uondiuossp [Aq | 93pp |ou z | ..w
&) NOILYHOJHOD DOOoUVH-1V (IN1-WISAS S400Q TIILS SO NVLVAS/VO0IL/ISTIL, )| | suosman)|)| 0tEe6 wwe) )| O O s
ltﬂiﬂ..mffufmt:
® e H\@........WD m...mm@....
O°0O Z%igh T,
O O 0 iSio one
7= PTie 9L
qu: iy 21y
i i 40: n:i®Q wiz=4
() 1 : ] SHYe) i
\E... .Am1 .,U....,.....\\_
N3 (% P2
il =7 NGRS R r g
A 5 TR T P "o... -
© — T * mﬂﬂxmvht.! ©
< z A
N m m ©
© <~
= -
v §®]
4 B
o i} 3
n
2 =
T
O ]
L —
’ 0
0 n
8
% S
© @)
—
Z o
= 1
pzd
o) [
i =
x %)
o
il T L
_1
O
@ =
L | wn
< O
- 9]~ )
| = L
\ =
J g &
=
o — =
il m
ol
\ ) 10 &
( N e 3
O O
O
e [20,0¢ S
N
N
2]
i | A
[@)) —
Ll e
3 M
| .O. | “_
<
" 0
(' [ D
i . L
< —
Y|
O
O
L (m]
o \ / L
N -
<
Z|
)
T
O
Ll
(2]
7 )
- 4
5 T
= b O
(@]
5 5 Z
o Q9
ok
Ll
>

EB C.A.N. # 3538


AutoCAD SHX Text
SECTION E-E

AutoCAD SHX Text
SECTION F-F

AutoCAD SHX Text
30

AutoCAD SHX Text
%%UVERTICAL CROSS SECTION

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
8

AutoCAD SHX Text
15 OR 27

AutoCAD SHX Text
21

AutoCAD SHX Text
3

AutoCAD SHX Text
11

AutoCAD SHX Text
1

AutoCAD SHX Text
17

AutoCAD SHX Text
SECTION G-G

AutoCAD SHX Text
%%UHORIZONTAL CROSS SECTION

AutoCAD SHX Text
11

AutoCAD SHX Text
22

AutoCAD SHX Text
16

AutoCAD SHX Text
2

AutoCAD SHX Text
14

AutoCAD SHX Text
24

AutoCAD SHX Text
18

AutoCAD SHX Text
29

AutoCAD SHX Text
28

AutoCAD SHX Text
SECTION H-H

AutoCAD SHX Text
E

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
12

AutoCAD SHX Text
11

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
%%UDOOR LEAF DETAIL

AutoCAD SHX Text
TDI APPROVAL/15-35LTX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-35LTX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
9

AutoCAD SHX Text
"TELSTAR/TIOGA/SPARTAN" OS STEEL DOORS SYSTEM-L.M.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
6

AutoCAD SHX Text
TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYSTEM

AutoCAD SHX Text
 AS SHOWN


18

A ITEM No. [PART_NUMBER] DESCRIPTION MATERIAL Qry.
95 or 96 1 MSD72232 |HEADER FRAME 2.67" x 0.058" THK. 16GA GALVANNEAL STEEL | 1
174770 1/2” BOLT WiTH LOCKING NUT, 2 MSD72232 | JAMB FRAME 2.67” x 0.059" THK. 16CA GALVANNEAL STEEL | 1
| /47 T0 1727 BOLT WTH LOCKING NI W 3 DT101126 | THRESHOLD 0.50” x 5.75" x 0.105" THK. 48" TP 6063—T5 ALUMINUM | 1
ENGAGEMENT BEYOND NUT. OR 4 MSD10027 | HINGE REINFORCEMENT 1.25” x 10.00" x 0.180" THK. COLD ROLLED STEEL| 8
#12 OR LARGER DRILLING SCREW. 5 MSD10290 | BOTTOM DOOR SKIN 0.40" x 1.72" x .034" THK. GALVANNEAL STEEL 1
CREWS MUST BE MINIMUM 3 THREADS 6 MSD10290 | TOP DOOR SKIN 0.18” x 0.24” x .035" THK. GALVANNEAL STEEL 1
ENGAGEMENT BEYOND CHANNEL/GIRT. < < | 7 MMD10205 | TOP_CAP_0.70" x 1.54" x .038" THK. GALVANNEAL STEEL | 1
8 MSD10223 | DOOR_CHANNEL 0.80" x 1.67" x_.053" THK. GALVANNEAL STEEL | 2
N ‘» 9 MSD10091 | CYLINDRICAL LOCK REINFORCEMENT 1.65” x 6.69” x 3.80" x 0.54" THK. 16GA COLD ROLLED STEEL| |
N 10| MSD70048 | FRAME CLIP 5.54" x 1.45" x 1.43" x_0.097" THK. 12GA SPOT_WELDED TO JAMBS GALVANNEAL STEEL | 2
e RN 11| MSD10005 | FOAM_CORE 44.00" x 91.00” x 1.688" THK. — 0.733 LB/FT> DENSITY POLYSTYRENE FOAM | 1
I 12| MMD10043 | DOOR_CLOSER REINFORCEMENT 7.00” x 19.50” x _0.070" THK. (15GA) STEEL SHEET GALVANNEAL STEEL | 2
13| MSD10068 | MORTISE_LOCK REINFORCEMENT 5.00” x 1.50” x 11.93” x 0.067" THK. 15GA COLD ROLLED STEEL| 1
14| MSD72232 | KD STRIKE JAMB_ 4080 MB534 FRAME 2.67" x 0.059” THK. 16GA GALVANNEAL STEEL | 1
15 - #8 x 17 SELF DRILLING SCREWS (NOT SUPPLIED) STEEL 6
16 - HINGE / STRIKE JAMB FLOOR BASE ANGLE CLIP 12GA GALVANNEAL STEEL | 2
A 17 | DT100631 | WEATHER STRIP_LP1153 (18') - 1
\ 18 | HG100034 | HINGE 4—1/2" x 4—1/2 GALVANNEAL STEEL | 4
19 - MORTISE LOCK HARDWARE OPTION, CL102258 ZHONGSHAN — 1
SEE NOTE 2 20 - LC1281 SERIES HEAVY DUTY COMMERCIAL GRADE 1 LEVERSET W/ CL100249 BY THASE ENTERPRISES CO. LTD | — 1
EACH SIDE 21 | MMD10203 | DOOR SWEEP 0.61” x 1.35" x 0.083" THK. TP 35.75" 6063-16 ALUMINUM | 1
. 22 - JAMB EXTENSION ASSEMBLY 16GA CHANNEL, 12GA CLIP GALVANNEAL STEEL | 4
/ 23 — 3/87¢ TO 1/2"¢ x 2—1/4” DYNABOLT STUD ANCHOR FOR CONCRETE — 4
24 - #12 x 1" SELF DRILLING SCREW (NOT SUPPLIED) STEEL 24
\5 25 = 1/4"9 10 1/2"8 x 3/4" HEX BOLT STEEL 12
< ’ NS 26 - 1/4"¢ TO 1/2"9 HEX NUT SELF LOCKING STEEL TO MATCH ITEM 25 STEEL 12
= 27 - #10 x 1" SELF DRILLING SCREW (NOT SUPPLIED) STEEL 6
1 28 - STRIKE PLATE — TO MATCH HARDWARE OPTION AS SPECIFIED - 1
\@ 29 = #12 — 24 x 3/8" PHILLPS FLAT HEAD COUNTERSUNK MACHINE SCREW STEEL, FOR HINGES | STEEL 32
30 - 3/16°8 x 1-3/4" PHILLIPS FLAT HEAD COUNTERSUNK TAPCON CONCRETE SCREW (NOT SUPPLED)| STEEL 5
/-w 31 = 9500 SERIES HEAVY DUTY COMMERCIAL GRADE 1 RIM PANIC W/ KEYED ESCUTCHEON TRIM - 1
% 32 - 5/16"¢ 10 1/2"@ x 1-3/4" HEX WASHER HEAD TAPCON CONCRETE SCREW (NOT SUPPLIED) | STEEL 7
. 24 33 | MSD10061 | HINGE REINFORCEMENT COVER 1.66” x 0.84" x 10.13" x 0.024” THK. COLD ROLLED STEEL| 4
SEE NOTE 2 ‘» 34 MSD10090 | STRIKE PLATE REINFORCEMENT 1.38” x 6.50” x 1.13” x 0.059” THK. 16GA COLD ROLLED STEEL| 1
EACH SIDE. e 35 | MSD10006 | 2 PART ADHESIVE, REZ—CURE EP882 BY INNOVATIVE RASIN SYSTEM, INC. EPOXY RESIN 2
MSD10033
36 | DT100852 | BUTTERFLY ANCHOR 1.58” x 2.50” x 7.00” x 0.048”" THK. COLD ROLLED STEEL| 4
37 | SD1000871 | ANCHOR 0.95" x 2.05" x 7.00" x 0.052" THK. COLD ROLLED STEEL| 4
14 38 - 1/4" x_3/4” HEX HEAD MACHINE BOLTS (HH MB) AND LOCK NUTS THRU FRAME CLIPS STEEL 2
_\ A INTERIOR 39 - #8 x 3 1/2” NAILS STEEL 8
\ 40 - 3/8" x 6" WOOD LAG BOLT STEEL 4
L—16 FRAME TO METAL BUILDING INSTALLATION DETAILS
SPOT WELDED NOTES:
BS L TO FRAME
1) FOR ANCHORING KNOCK DOWN FRAME HEAD JAMB TO FRAME HINGE JAMB AND FRAME STRIKE JAMB
INTERIOR 16GA. (053" MIN.) STEEL FRAMING USE (2 PER SIDE) 1/4” TO 1/2” DIAMETER STEEL BOLT WITH
MATING SELF LOCKING NUT. BOLT TO BE OF SUFFICIENT LENGTH TO ACHIEVE 3—THREADS MINIMUM
S = 23 OR 32 25, 26 BEYOND NUT. LOCATE AND ANCHOR AS SHOWN IN CORNER CONSTRUCTION DETAIL.
e SEE NOTE 3 SEE NOTE 1 2) FOR ANCHORING JAMB EXTENSION ASSEMBLY TO 16GA. (.053” MIN.) STEEL FRAMING HINGE AND STRIKE
JAMBS, USE (4 PER CHANNEL) #12 OR LARGER DRILLING SCREWS OF SUFFICIENT LENGTH TO ACHIEVE
3-THREADS MINIMUM BEYOND ANCHOR CHANNELS. LOCATE AND ANCHOR AS SHOWN IN JAMB EXTENSION
EXTERIOR A ASSEMBLY DETAIL.
3) FOR ANCHORING FLOOR BASE ANGLE OF FRAME HINGE AND STRIKE JAMBS ONTO CONCRETE USE (2
FLOOR BASE ANGLE DETAIL EXTERIOR 10 ) PER JAMB) 3/8” TO 1/2" DIAMETER WEDGE BOLTS OF SUFFICIENT LENGTH TO ACHIEVE 2" MINIMU(M
CUP IS EMBEDMENT INTO CONCRETE WITH 4 1/2” MINIMUM EDGE DISTANCE OR (2 PER SIDE) 5/16” TO 1/2”
SPOT DIAMETER HEX WASHER HEAD TAPCON SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1-3/4” MINIMUM
14 WELDED EMBEDMENT INTO CONCRETE WITH 3-3/16” MINIMUM EDGE DISTANCE (ADD WASHER IF NEEDED). LOCATE
19, 20, 31 TO FRAME AND ANCHOR AS SHOWN IN FLOOR BASE ANGLE DETAIL.
CYLINDRICAL LOCK ° »
SHOWN < . < 4) FOR ANCHORING THRESHOLD ONTO CONCRETE USE 3/16” DIAMETER FLAT HEAD TAPCON SCREWS WITH SN
X » ” -
. CORNER CONSTRUCTION DETAIL E[l)J(I;EIC[I)I;Ié\I]'_I'A ,\II_(I;IEI‘GTH TO ACHIEVE A 1-3/4" MINIMUM EMBEDMENT INTO CONCRETE WITH 2-5/8" MINIMUM :"Z ?:‘E OFT 4:;\“
/ LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETALS. Z o Ry '.’
24 P 5) INSTALLATION ANCHORS AND HARDWARE SHALL BE INSTALLED IN ACCORDANCE WITH MANYPECTURER'S % )
SEE NOTE 2 ] INSTALLATION INSTRUCTIONS AND SHALL NOT BE USED IN SUBSTRATES WITH STRENGTH{ LESS THAN THE : L *
MINIMUM STRENGTH SPECIFIED BELOW: N et T} i,
\ A. STEEL FRAMING: 16GA. (.053" MIN.) JAVAD AHMAD ?
N B. CONCRETE: MINIMUM COMPRESSIVE STRENGTH 3,192 PSI. S 1065716 oy
EXTERIOR INTERIOR o\ i 7
A, TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYSTEM 0. o7
7 “ ((:9"- /CENSE, O —

JAMB EXTENSION ASSEMBLY DETAIL

W

S“'o.--oa"'e$-

/ONAL ©ia

\
Sealed 11/8/16 M aaasa™

f

TDI APPROVAL/1 5—35LTXJ

’

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

(

|

INC.

LITITZ,
1-717-625-2990 .

1—800—433—-4047 .

1—888—370—3253

TELL MANUFACTURING,
18 RICHARD DRIVE .
PENNSYLVANIA 17543

TOLL FREE:

FAX:

{'TELSTAR/T I0GA/SPARTAN" 0S STEEL DOORS SYSTEM—L.M.I]

|

)

by [ description

(revisions:
(hol date

9-23-16 |:

scale: AS SHOWN

date:
chk. by:

—— >
TIE—
drawing no.

15—-35LTX

EB C.AN. # 3538



AutoCAD SHX Text
%%UFLOOR BASE ANGLE DETAIL

AutoCAD SHX Text
%%UEXTERIOR

AutoCAD SHX Text
%%UINTERIOR

AutoCAD SHX Text
%%UINTERIOR

AutoCAD SHX Text
%%UEXTERIOR

AutoCAD SHX Text
%%UEXTERIOR

AutoCAD SHX Text
NOTES: 1) FOR ANCHORING KNOCK DOWN FRAME HEAD JAMB TO FRAME HINGE JAMB AND FRAME STRIKE JAMB FOR ANCHORING KNOCK DOWN FRAME HEAD JAMB TO FRAME HINGE JAMB AND FRAME STRIKE JAMB 16GA. (.053" MIN.) STEEL FRAMING USE (2 PER SIDE) 1/4" TO 1/2" DIAMETER STEEL BOLT WITH MATING SELF LOCKING NUT. BOLT TO BE OF SUFFICIENT LENGTH TO ACHIEVE 3-THREADS MINIMUM BEYOND NUT. LOCATE AND ANCHOR AS SHOWN IN CORNER CONSTRUCTION DETAIL. 2) FOR ANCHORING JAMB EXTENSION ASSEMBLY TO 16GA. (.053" MIN.) STEEL FRAMING HINGE AND STRIKE FOR ANCHORING JAMB EXTENSION ASSEMBLY TO 16GA. (.053" MIN.) STEEL FRAMING HINGE AND STRIKE JAMBS, USE (4 PER CHANNEL) #12 OR LARGER DRILLING SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 3-THREADS MINIMUM BEYOND ANCHOR CHANNELS. LOCATE AND ANCHOR AS SHOWN IN JAMB EXTENSION ASSEMBLY DETAIL. 3) FOR ANCHORING FLOOR BASE ANGLE OF FRAME HINGE AND STRIKE JAMBS ONTO CONCRETE USE (2 FOR ANCHORING FLOOR BASE ANGLE OF FRAME HINGE AND STRIKE JAMBS ONTO CONCRETE USE (2 PER JAMB) 3/8" TO 1/2" DIAMETER WEDGE BOLTS OF SUFFICIENT LENGTH TO ACHIEVE 2" MINIMUM EMBEDMENT INTO CONCRETE WITH 4 1/2" MINIMUM EDGE DISTANCE OR (2 PER SIDE) 5/16" TO 1/2" DIAMETER HEX WASHER HEAD TAPCON SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1-3/4" MINIMUM EMBEDMENT INTO CONCRETE WITH 3-3/16" MINIMUM EDGE DISTANCE (ADD WASHER IF NEEDED). LOCATE AND ANCHOR AS SHOWN IN FLOOR BASE ANGLE DETAIL. 4) FOR ANCHORING THRESHOLD ONTO CONCRETE USE 3/16" DIAMETER FLAT HEAD TAPCON SCREWS WITH FOR ANCHORING THRESHOLD ONTO CONCRETE USE 3/16" DIAMETER FLAT HEAD TAPCON SCREWS WITH SUFFICIENT LENGTH TO ACHIEVE A 1-3/4" MINIMUM EMBEDMENT INTO CONCRETE WITH 2-5/8" MINIMUM EDGE DISTANCE. LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS. 5) INSTALLATION ANCHORS AND HARDWARE SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S INSTALLATION ANCHORS AND HARDWARE SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S INSTALLATION INSTRUCTIONS AND SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BELOW: A. STEEL FRAMING: 16GA. (.053" MIN.) STEEL FRAMING: 16GA. (.053" MIN.) B. CONCRETE: MINIMUM COMPRESSIVE STRENGTH 3,192 PSI.CONCRETE: MINIMUM COMPRESSIVE STRENGTH 3,192 PSI.

AutoCAD SHX Text
CORNER CONSTRUCTION DETAIL

AutoCAD SHX Text
%%UJAMB EXTENSION ASSEMBLY DETAIL

AutoCAD SHX Text
%%UINTERIOR

AutoCAD SHX Text
22

AutoCAD SHX Text
14

AutoCAD SHX Text
16 SPOT WELDED TO FRAME

AutoCAD SHX Text
14

AutoCAD SHX Text
24 SEE NOTE 2

AutoCAD SHX Text
10 CLIP IS SPOT WELDED TO FRAME

AutoCAD SHX Text
25, 26 SEE NOTE 1

AutoCAD SHX Text
23 OR 32 SEE NOTE 3

AutoCAD SHX Text
19, 20, 31 CYLINDRICAL LOCK SHOWN

AutoCAD SHX Text
25 or 26 1/4" TO 1/2" BOLT WITH LOCKING NUT. BOLT MUST BE MINIMUM 3 THREADS ENGAGEMENT BEYOND NUT. OR #12 OR LARGER DRILLING SCREW. SCREWS MUST BE MINIMUM 3 THREADS ENGAGEMENT BEYOND CHANNEL/GIRT.

AutoCAD SHX Text
24 SEE NOTE 2 EACH SIDE.

AutoCAD SHX Text
24 SEE NOTE 2 EACH SIDE.

AutoCAD SHX Text
%%UFRAME TO METAL BUILDING INSTALLATION DETAILS

AutoCAD SHX Text
18

AutoCAD SHX Text
ITEM No. No.No.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
JAMB FRAME 2.67" x 0.059" THK. 16GA

AutoCAD SHX Text
1

AutoCAD SHX Text
THRESHOLD 0.50" x 5.75" x 0.105" THK. 48" TP  

AutoCAD SHX Text
1

AutoCAD SHX Text
HINGE REINFORCEMENT 1.25" x 10.00" x 0.180" THK.

AutoCAD SHX Text
8

AutoCAD SHX Text
BOTTOM DOOR SKIN 0.40" x 1.72" x .034" THK.

AutoCAD SHX Text
1

AutoCAD SHX Text
TOP DOOR SKIN 0.18" x 0.24" x .035" THK.

AutoCAD SHX Text
1

AutoCAD SHX Text
TOP CAP 0.70" x 1.54" x .038" THK.

AutoCAD SHX Text
1

AutoCAD SHX Text
DOOR CHANNEL 0.80" x 1.67" x .053" THK.

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
FRAME CLIP 5.54" x 1.45" x 1.43" x 0.097" THK. 12GA SPOT WELDED TO JAMBS

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
DOOR CLOSER REINFORCEMENT 7.00" x 19.50" x 0.070" THK. (15GA) STEEL SHEET

AutoCAD SHX Text
2

AutoCAD SHX Text
MORTISE LOCK REINFORCEMENT 5.00" x 1.50" x 11.93" x 0.067" THK. 15GA

AutoCAD SHX Text
1

AutoCAD SHX Text
KD STRIKE JAMB 4080 MB534 FRAME 2.67" x 0.059" THK. 16GA

AutoCAD SHX Text
1

AutoCAD SHX Text
#8 x 1"  SELF DRILLING SCREWS (NOT SUPPLIED)SELF DRILLING SCREWS (NOT SUPPLIED) (NOT SUPPLIED)

AutoCAD SHX Text
6

AutoCAD SHX Text
HINGE / STRIKE JAMB FLOOR BASE ANGLE CLIP 12GA

AutoCAD SHX Text
2

AutoCAD SHX Text
WEATHER STRIP LP1153 (18')

AutoCAD SHX Text
1

AutoCAD SHX Text
HINGE 4-1/2" x 4-1/2"

AutoCAD SHX Text
4

AutoCAD SHX Text
MORTISE LOCK HARDWARE OPTION, CL102258 ZHONGSHAN

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
DOOR SWEEP 0.61" x 1.35" x 0.083" THK. TP 35.75"

AutoCAD SHX Text
1

AutoCAD SHX Text
JAMB EXTENSION ASSEMBLY 16GA CHANNEL, 12GA CLIP

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
#12 x 1" SELF DRILLING SCREW (NOT SUPPLIED)

AutoCAD SHX Text
24

AutoCAD SHX Text
STRIKE PLATE - TO MATCH HARDWARE OPTION AS SPECIFIED

AutoCAD SHX Text
12

AutoCAD SHX Text
1/4"  TO 1/2"  HEX NUT SELF LOCKING STEEL TO MATCH ITEM 25

AutoCAD SHX Text
12

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
32

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
#12 - 24 x 3/8" PHILLIPS FLAT HEAD COUNTERSUNK MACHINE SCREW STEEL, FOR HINGES

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
17

AutoCAD SHX Text
18

AutoCAD SHX Text
19

AutoCAD SHX Text
20

AutoCAD SHX Text
21

AutoCAD SHX Text
22

AutoCAD SHX Text
23

AutoCAD SHX Text
24

AutoCAD SHX Text
25

AutoCAD SHX Text
26

AutoCAD SHX Text
27

AutoCAD SHX Text
28

AutoCAD SHX Text
29

AutoCAD SHX Text
30

AutoCAD SHX Text
31

AutoCAD SHX Text
32

AutoCAD SHX Text
CYLINDRICAL LOCK REINFORCEMENT 1.65" x 6.69" x 3.80" x 0.54" THK. 16GA 

AutoCAD SHX Text
1/4"  TO 1/2"  x 3/4" HEX BOLT

AutoCAD SHX Text
LC1281 SERIES HEAVY DUTY COMMERCIAL GRADE 1 LEVERSET W/ CL100249 BY THASE ENTERPRISES CO. LTDBY THASE ENTERPRISES CO. LTD

AutoCAD SHX Text
9500 SERIES HEAVY DUTY COMMERCIAL GRADE 1 RIM PANIC W/ KEYED ESCUTCHEON TRIM

AutoCAD SHX Text
#10 x 1" SELF DRILLING SCREW (NOT SUPPLIED)

AutoCAD SHX Text
3/16"  x 1-3/4" PHILLIPS FLAT HEAD COUNTERSUNK TAPCON CONCRETE SCREW (NOT SUPPLIED)

AutoCAD SHX Text
5/16"  TO 1/2"  x 1-3/4" HEX WASHER HEAD TAPCON CONCRETE SCREW (NOT SUPPLIED)

AutoCAD SHX Text
3/8"  TO 1/2"  x 2-1/4" DYNABOLT STUD ANCHOR FOR CONCRETE

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
33

AutoCAD SHX Text
34

AutoCAD SHX Text
35

AutoCAD SHX Text
STRIKE PLATE REINFORCEMENT 1.38" x 6.50" x 1.13" x 0.059" THK. 16GA

AutoCAD SHX Text
HINGE REINFORCEMENT COVER 1.66" x 0.84" x 10.13" x 0.024" THK.

AutoCAD SHX Text
2 PART ADHESIVE, REZ-CURE EP882 BY INNOVATIVE RASIN SYSTEM, INC.

AutoCAD SHX Text
FOAM CORE 44.00" x 91.00" x 1.688" THK. - 0.733 LB/FT³ DENSITY DENSITY

AutoCAD SHX Text
PART NUMBER

AutoCAD SHX Text
MATERIAL

AutoCAD SHX Text
MSD10006 MSD10033

AutoCAD SHX Text
MSD10090

AutoCAD SHX Text
MSD10061

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
MMD10203

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
HG100034

AutoCAD SHX Text
DT100631

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
MSD72232

AutoCAD SHX Text
MSD10068

AutoCAD SHX Text
MMD10043

AutoCAD SHX Text
MSD10005

AutoCAD SHX Text
MSD70048

AutoCAD SHX Text
MSD10091

AutoCAD SHX Text
MSD10223

AutoCAD SHX Text
MMD10205

AutoCAD SHX Text
MSD10290

AutoCAD SHX Text
MSD10290

AutoCAD SHX Text
MSD10027

AutoCAD SHX Text
DT101126

AutoCAD SHX Text
MSD72232

AutoCAD SHX Text
MSD72232

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
6063-T5 ALUMINUM

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
POLYSTYRENE FOAM FOAM

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
6063-T6 ALUMINUM

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
EPOXY RESIN

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
36

AutoCAD SHX Text
1/4" x 3/4" HEX HEAD MACHINE BOLTS (HH MB) AND LOCK NUTS THRU FRAME CLIPS 

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
2

AutoCAD SHX Text
37

AutoCAD SHX Text
ANCHOR 0.95" x 2.05" x 7.00" x 0.052" THK.

AutoCAD SHX Text
SD100081

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
4

AutoCAD SHX Text
HEADER FRAME 2.67" x 0.059" THK. 16GA

AutoCAD SHX Text
BUTTERFLY ANCHOR 1.58" x 2.50" x 7.00" x 0.048" THK.

AutoCAD SHX Text
DT100852

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
4

AutoCAD SHX Text
38

AutoCAD SHX Text
#8 x 3 1/2" NAILS

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
39

AutoCAD SHX Text
8

AutoCAD SHX Text
3/8" x 6" WOOD LAG BOLT

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
40

AutoCAD SHX Text
4

AutoCAD SHX Text
-

AutoCAD SHX Text
TDI APPROVAL/15-35LTX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-35LTX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
9

AutoCAD SHX Text
"TELSTAR/TIOGA/SPARTAN" OS STEEL DOORS SYSTEM-L.M.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
7

AutoCAD SHX Text
TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYSTEM

AutoCAD SHX Text
 AS SHOWN


10 PROJECTION U o
PROJECTION 10 WELDED (4) PLACES M. h o
WELDED (4) PLACES MIN. M
SR L. L 0
2 p B Q
[ ] 4 O+r (B3
— -_— (e
=i ollE
PROJéCT\ON q < < ! o %o gl=
WeloeD "\ [ _ - Qoy ¢gfe
EACH END S N ;
3| n- W w é
i , . 1 Kot w
o ‘ 2.096 031 OLEZm
I T >
g ” EE tHE
[— — ” & ‘-|
. . 4 % 1+ 1.806 OLE 2
N N , - Q
y 7.013 ST 4 ., Ee23
— 16-GAGE FORMED STEEL E w a I.—I-' g
s STRIKE REINF. PROJECTION 4.888" rZos @
_ 7/[ 1 . WELDED (2) PLACES FACH END : .| g g s g
- 9 0] -t <Z5sE
. AW AW -
] T 2 P 2 -
1 — -
i ;, 1.806 a2 A J i (SR
LAL i =] E
Al & y y 7 &l $
S L ” ” 70 SECTION AV-AV " g % E
& 2125 D31 ~—2.125 2l< N !
'_
p 5.75" g X E o
: | B = 5
SECTION NN o) s SECTION AN-AW glo -2F%
= <l = [[<Cw ﬁ M o
= L =T340
E[DXx )
— =l=°2<8/
- = © (o]
Ll<wcazZ2T5
gl=x<-7
=] §¢m£
. 42 Sl = 1S0ET
#.5 Q0 - Z4s
/ | B 2dRE
l ——— >
o N N o ‘
1.3/4 °° 5.75"
WIDTH VARIES TO MATCH FRAME WIDTH. 1057 = L
— WIDTH FOR 8 1/4 FRAME SHOWN.
10, 16 » H Jo L
12 GA |‘— 3 _'| } o o S
TR o0 = 0 _Jzws e ) N, g
" L } | .. 6063 ALUMINUM 5
[2]
16 GA 13/4 o o | o
O N
21 1/2 ] 2 i 2
JAMB HEAD JAMB CLIP H L J @
i
18 ‘0o
| — e o o olfo
O e J
/ o o -..""‘\\“\\\\ — — >
21/64 — | iz?:‘EOFTg*’;\\‘ | &
/84 = | — 1 3/4 Z o Y 'l' 12
N .,
HINGE REINFORCEMENT z *: " * 'f Z 9
DOOR AND FRAME * R/ %
L‘i 8 4’J 2 3/8 Y (P A & LI D ARMAD T 5 s || 8 @
e = o] ~
WIDTH VARIES TO MATCH FRAME WIDTH. 7oA T e, ’ 3 @ S
WIDTH FOR 8 1/4 FRAME SHOWN. o 106516 lor ’/ | ——
TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYSTEM 05 A
JAMB_EXTENSION ASSEMBLY 2o, R
: "\ Eemse s (15— 35LTX
WOo/ONAL B
Sealed 11/8/16 M\~ sheet 8 of 9

EB C.A.N. # 3538



AutoCAD SHX Text
22

AutoCAD SHX Text
SPOT WELDED 4 PLACES

AutoCAD SHX Text
WIDTH VARIES TO MATCH FRAME WIDTH. WIDTH FOR 8 1/4 FRAME SHOWN.

AutoCAD SHX Text
4

AutoCAD SHX Text
JAMB EXTENSION ASSEMBLY

AutoCAD SHX Text
JAMB FLOOR BASE ANGLE CLIP

AutoCAD SHX Text
JAMB HEAD JAMB CLIP

AutoCAD SHX Text
HINGE REINFORCEMENT DOOR AND FRAME

AutoCAD SHX Text
WIDTH VARIES TO MATCH FRAME WIDTH. WIDTH FOR 8 1/4 FRAME SHOWN.

AutoCAD SHX Text
10, 16

AutoCAD SHX Text
7 GA

AutoCAD SHX Text
16 GA

AutoCAD SHX Text
12 GA

AutoCAD SHX Text
6063 ALUMINUM

AutoCAD SHX Text
3

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
WELDED

AutoCAD SHX Text
EACH END

AutoCAD SHX Text
N

AutoCAD SHX Text
N

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
WELDED (4) PLACES MIN.

AutoCAD SHX Text
SECTION N-N

AutoCAD SHX Text
17

AutoCAD SHX Text
2

AutoCAD SHX Text
10

AutoCAD SHX Text
4

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
WELDED (4) PLACES MIN.

AutoCAD SHX Text
AV

AutoCAD SHX Text
AV

AutoCAD SHX Text
SECTION AV-AV

AutoCAD SHX Text
14

AutoCAD SHX Text
10

AutoCAD SHX Text
14

AutoCAD SHX Text
34

AutoCAD SHX Text
28

AutoCAD SHX Text
AW

AutoCAD SHX Text
AW

AutoCAD SHX Text
SECTION AW-AW

AutoCAD SHX Text
1

AutoCAD SHX Text
17

AutoCAD SHX Text
16-GAGE FORMED STEEL

AutoCAD SHX Text
STRIKE REINF. PROJECTION

AutoCAD SHX Text
WELDED (2) PLACES EACH END

AutoCAD SHX Text
TDI APPROVAL/15-35LTX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-35LTX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
9

AutoCAD SHX Text
"TELSTAR/TIOGA/SPARTAN" OS STEEL DOORS SYSTEM-L.M.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
8

AutoCAD SHX Text
TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYSTEM

AutoCAD SHX Text
 AS SHOWN


5 3/4”

1,

— —

2, 14

|
2 1/8 | 4

| 2 1/8

WIDTH VARIES FROM 4 7/8" TO 12 1/4".

5 3/4" FRAME SHOWN.

JAMB PROFILE

0.105

" T
L—————-5 3/4 ——=

{
/2

2

6063 ALUMINUM

THRESHOLD (0.105” THICKNESS)

4
HINGE REINFORCEMENT(4)

|-

| CEY .

IKEX|

X

IKEX|

s

x

X

1

TOP CAP

¢)]

J

f

11/16

"1 35/64E

20GA

——||—— 27/64
F
1 45/64

18GA
BOTTOM DOOR_SKIN

9

LOCK REINFORCEMENT
— MIN. 2 RESISTANCE
OR PROJECTION
WELDS EACH END

DOOR LEAF
ASSEMBLY

F

i

23/32

.
——L 43/64 1

16GA
DOOR CHANNEL

DOOR SWEEP

fGrVB
5/16 —J L:T_

iy
9/16:]___%2:\_

17

JAMB WEATHERSTRIPPING

3/4

625"

-

375"

4.875" 4.875"

WIDTH VARIES FROM 4 7/8"
4 7/8" FRAME SHOWN.

WIDTH VARIES FROM 4 7/8" TO 12 1/4".

4 7/8" FRAME SHOWN.

TO 12 1/4".

18GA
TOP_DOOR_SKIN

2" MAX. / 3/4" MIN

C NN )

— 11

FOAM CORE.

DENSITY: 0.733 LB/FT?

O

§
@

O

— REZ CURE EP882 PART A & B

ADHESIVE APPLIED IN CROSSED
PATTERN PRIOR TO SPREADING.
APPLY PER UL SPEC.

l— 2—1/2" MAX. / 1=1/4" MIN.

BOTH SIDES

N

N/

!

"\"'l\ SPOT WELD, EACH SIDE, EACH CHANNEL.

WELD 1-1/2" FROM EDGE, SPACED 3" APART.

MAX. 2" / MIN 3/4"T

DRYWALL FRAME MASONRY FRAME

=" WIRE
MASONRY
ANCHOR

NOTE: COMBINATION ANCHORS
USED AS A STEEL
STUD ANCHOR

ANCHOR EXPANDS 5-3/4" JAMB WIDTH ONLY

TO FIT WIDER

REMOVE NAILING STRAPS

INSIDE BREAK—OFF
CREASE = 2-1/2" STUD

OUTSIDE BREAK-OFF

CREASE = 3-5/8" STUD

NOTE: WIRE ANCHORS LAY
HORIZONTALLY,
LODGED BETWEEN
THE RABBEL AND
THE BACKBEND

WIRE ANCHOR
AT EVERY BLOCK CELL
MASONRY CONSTRUCTION

COMBINED ANCHOR
AT 24" 0.C. MAX.
PUNCH & DIMPLE ANCHORING

)

/

PIPE AND STRAP ANCHOR
WELDED TO FRAME

\/

NOTE: 3/8"% HOLE IS PROVIDED THROUGH FRAME
STOP WITH EITHER A COUNTERSINK OR
DIMPLE TO RECEIVE ANCHOR BOLTS.
o ‘ SSOF TN
1.58" -ﬁ T \
O O PIPE_AND STRAP ANCHOR AaREnl I,
- Gt ."qo \
AT 247 0.C. MAX. Z KO
EXISTING MASONRY CONSTI w * ""
Y %
BUTT RFLY ANCHOR llllllllllllllllllllllllllllllllllll ’
20 08 AAVAD AHMAD
s, 106516 e 7
4, ‘o 2
TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYST e P
‘-4.-..a¢°6$--

Wee
Sealed 11/8/16 “WaNAL &=

7
G

TDI APPROVAL/1 5—35LTX]

&l

ALFAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
$380 SUNSET DRIVE, SUITE 220
MIAMI, FLORIDA 33473

FAX_ (305) 262-8978

TEL. (305) 284-8100

(

|

INC.

1-717-625-2990 .

LITITZ,

['TELSTAR/T I0GA/SPARTAN" OS STEEL DOORS SYSTEM—L.M.IJ

TELL MANUFACTURING,
18 RICHARD DRIVE .
PENNSYLVANIA 17543

TOLL FREE: 1-B00—433—4047 .

FAX: 1-B88—370—3253

)
by [ description

(revisions:
(ho] date

{

9-23-16
scale: AS SHOWN

date:
chk. by:

drawing no.

15—-35LTX

EB C.A.N. # 3538



AutoCAD SHX Text
%%UDOOR SWEEP

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
21

AutoCAD SHX Text
1, 2, 14

AutoCAD SHX Text
%%UJAMB PROFILE

AutoCAD SHX Text
%%UTOP CAP

AutoCAD SHX Text
%%UDOOR CHANNEL

AutoCAD SHX Text
%%UTOP DOOR SKIN

AutoCAD SHX Text
%%UBOTTOM DOOR SKIN

AutoCAD SHX Text
%%UTHRESHOLD (0.105" THICKNESS)

AutoCAD SHX Text
WIDTH VARIES FROM 4 7/8" TO 12 1/4". 5 3/4" FRAME SHOWN." FRAME SHOWN.

AutoCAD SHX Text
JAMB WEATHERSTRIPPING

AutoCAD SHX Text
17

AutoCAD SHX Text
20GA

AutoCAD SHX Text
16GA

AutoCAD SHX Text
18GA

AutoCAD SHX Text
18GA

AutoCAD SHX Text
6063 ALUMINUM

AutoCAD SHX Text
11 FOAM CORE. DENSITY: 0.733 LB/FT³

AutoCAD SHX Text
35 ADHESIVE APPLIED IN CROSSED PATTERN PRIOR TO SPREADING. - REZ CURE EP882 PART A & B APPLY PER UL SPEC.

AutoCAD SHX Text
SPOT WELD, EACH SIDE, EACH CHANNEL. WELD 1-1/2" FROM EDGE, SPACED 3" APART.

AutoCAD SHX Text
DOOR LEAF ASSEMBLY

AutoCAD SHX Text
9 LOCK REINFORCEMENT - MIN. 2 RESISTANCE OR PROJECTION WELDS EACH END 

AutoCAD SHX Text
4 HINGE REINFORCEMENT(4)

AutoCAD SHX Text
CLOSER REINFORCEMENT

AutoCAD SHX Text
316" WIRE WIRE MASONRY ANCHOR

AutoCAD SHX Text
COMBINED ANCHOR AT 24" O.C. MAX. PUNCH & DIMPLE ANCHORING

AutoCAD SHX Text
ANCHOR EXPANDS TO FIT WIDER JAMBS

AutoCAD SHX Text
PIPE AND STRAP ANCHOR AT 24" O.C. MAX. EXISTING MASONRY CONSTRUCTION

AutoCAD SHX Text
WIRE ANCHOR AT EVERY BLOCK CELL MASONRY CONSTRUCTION

AutoCAD SHX Text
PIPE AND STRAP ANCHOR WELDED TO FRAME

AutoCAD SHX Text
NOTE: 3/8"  HOLE IS PROVIDED THROUGH FRAMESTOP WITH EITHER A COUNTERSINK OR DIMPLE TO RECEIVE ANCHOR BOLTS.

AutoCAD SHX Text
NOTE: WIRE ANCHORS LAY HORIZONTALLY, LODGED BETWEEN THE RABBEL AND THE BACKBEND

AutoCAD SHX Text
NOTE: COMBINATION ANCHORS USED AS A STEEL STUD ANCHOR 5-3/4" JAMB WIDTH ONLY REMOVE NAILING STRAPS INSIDE BREAK-OFF CREASE = 2-1/2" STUD OUTSIDE BREAK-OFF CREASE = 3-5/8" STUD

AutoCAD SHX Text
WIDTH VARIES FROM 4 7/8" TO 12 1/4". 4 7/8" FRAME SHOWN.

AutoCAD SHX Text
WIDTH VARIES FROM 4 7/8" TO 12 1/4". 4 7/8" FRAME SHOWN.

AutoCAD SHX Text
DRYWALL FRAME

AutoCAD SHX Text
MASONRY FRAME

AutoCAD SHX Text
(2) 1/8" SPOT WELDING HOLES 

AutoCAD SHX Text
BUTTERFLY ANCHOR AT 24" O.C. MAX.


	Sheets and Views
	15-35LTX-sheet (1)
	15-35LTX-sheet (2)
	15-35LTX-sheet (3)
	15-35LTX-sheet (4)
	15-35LTX-sheet (5)
	15-35LTX-sheet (6)
	15-35LTX-sheet (7)
	15-35LTX-sheet (8)
	15-35LTX-sheet (9)




